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I 7 mwn: definition of on and Ty
a  me
i definition of Tyn: attestation of pr1 on 3 days — "oV "1 agrees (31: n3%N, since MY 1PN YOV ")
ii ~ definition of on: 3 days of cessation of violent behavior (v"1 agrees)
1  source: (v.1)
(@) »ax:%nn -1 day; mnnn - 2 days; Dwow — 3 days; 1InY R — 4" goring is v
(b) ®a7: 91nn -1 day; mwHw - 2 days; 190’ % —now liable (on 3 day) for v")
b nm:
i definition of Tyn: attestation of 3 instances of pr1 (V™ agrees)
ii  definition of on: once the children play with him and he doesn’t gore — »o1 "1 agrees (72%n as above)
1 arqument (countering nTn "): if less frequent (daily) mnoi generate nRTYN, 17p that more frequent mno = N
2 response: proof from nar, who is only nknv after 3 consecutive days of n»”x3, regardless of how many nvxa
(a) defense: v. 2 — nrn indicates that the reasoning here is 23m30 N1’ and not accessible to 1"p
(b) tangent: proving that v. 2 excludes nar from nvry alone; and v. 3 equates nar:a1 for (3) days
I question posed about “3 days”: is it testimony about the 1 (3 days of goring) or 3 days of testimony against the owner
a  split the difference: if 3 groups of 01y came on one day (about 3 days of goring)
b proof: k1 stipulating that:
i Testimony: must take place in front of 7 a1 and owners
ii  If: 3 different groups testified, it is considered 1 group for nnrn
1 Therefore: if 1¢t or 1%t and 2"d groups were nnn, both the owner and they are exempt
2 But if: all three groups are onn, they are all liable as per v. 4
iii ~ Provisional conclusion: they must be testifying about the ox; else, the 1t group could claim that they didn’t know that
others would come and testify against him
1 Challenge (2775 7): why doesn’t 1% group make similar claim — they didn’t know other o1y were coming to
testify against 1w
(a) Answer: they hinted to each other, or came one after the other
(b) Answer3 (X2237): if they know the owner but not the ox
(i) Challenge: how can they testify about the ox if they don’t know it?
(if) Answer: they testify that one of his oxen is dangerous and he has to guard all of them
I Question posed about A “siccing” B’s dog on C (A is certainly exempt — Ppraa Xn7; what about B?)
a  Argqument for exemption: may claim that he didn’t do anything
b Argument for liability: C may claim that since he knew that his dog was easily incited, he should have gotten rid of him
i Proof (871 ”7): n™ (& '0v "7): on - when children play with (incite) him and he doesn’t gore = if he did gore — liable
1 Rejection (»228): doesn’t state that he’d be liable; perhaps that keeps him from returning to mmnn, but he’s exempt
ii ~ Proof: if someone “sics” a dog or snake on another, he is exempt
1 - owner of animal is liable
2 rejection: “even” the inciter is exempt (certainly the owner is exempt)
iii tangent: X211 if someone incites another’s dog and the dog bites the inciter — owner is certainly exempt
1 Reason: 110912 nWY INR R MWK 93
2 Comment (K99 ’7): 9" agrees (case of 2 cows — 1 lying down and other walking — see above, p. 17
3  Rejection: in that case, X171 disagrees, as the n¥117 “claims” that the na%nn had no right to kick him
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